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General Instructions :
Read the following instructions very carefully and strictly follow them :

) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(itt) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv) Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viti) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct choice.

1. What is the largest number that divides 245 and 1029, leaving remainder
5 in each ?

@) 15 ®) 16 © 9 @ 5 1

2.  Consider the following distribution :
Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Frequency | 10 15 12 20 9

The sum of lower limits of the median class and the modal class is
(a) 15 (b) 25 (¢ 30 (d) 35 1
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3. A¢60° T gehl o TRl Wy 3 H.H. Frsan drel Wb o W S Sl 8, a1 Yedsh T Wl hi
SEIEEE

(a) 3 (b) 342@ et (© 33 & d) 6o 1
1095 %

4. 1168 h] H{AdH 9 & :
@ 3¢ ® 22 © 1 @ 12 1

5. 3TTSI WehR ¥ %l 713 52 Tl ohl AT91 ohl TSI H ¥ Teh 1 Ao AT [-hIeTl 77T | Teh T[T
% 3T oh STTehal 1 8 ?

3 1 1 3
@ 36 ® 33 © 13 @ 33 1

6. Aquhfgadagmg (k—1) a2 +ke+ 1B THIIIB -4 2L BIAAE -

5 5 4 4
(@ -7 Ok © -3 @ 3 1

7. o= A 9 i o uftE 9 S 9id v o B9 H o35 A1 ST dehdal & 7

124 131 2027 1625
@ 765 ® 3o © G5 @ 52 1

8. AGaTqAP, (242 +5x—9) HYIh e, Ao HIAFE :

5 5 9 9
@ -3 ® 3 © -3 @ 3 1

9. 3u g f5wes 3 feig (0, 4), (0, 0) T (3, 0) BHT UM R :
@) 7++[5 ®) 5 © 10 d 12 1
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3. If the two tangents inclined at an angle of 60° are drawn to a circle of
radius 3 em, then the length of each tangent is :

33

(a) 3 ecm (b) 5 cm (c) 3\/5 cm (d) 6 cm 1

1095
4.  The simplest form of 1168 is
17 25 13 15
@ 55 b) 55 © 715 @ 15 1
5.  One card is drawn at random from a well — shuffled deck of 52 cards.
What is the probability of getting a Jack ?
3 1 1 3
@ 35 b) 5o © 713 @D 55 1

6. If one zero of the quadratic polynomial, (k — 1) 2 + kx + 1 is —4 then the
value of k is

5 5 4 4
@ -3 ® © -3 @ 3 1

7. Which of the following rational numbers is expressible as a terminating

decimal ?
124 131 2027 1625
@ T65 ) 3o © G5 @ 52 1

8. If o and B are the zeros of (262 + 5x — 9), then the value of of is

@ -3 ® 3 © -3 @ 5 1

9.  The perimeter of a triangle with vertices (0, 4), (0, 0) and (3, 0) is
@) 7+45 ®) 5 © 10 d 12 1
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10. g fegati A(=3, b) T B(1, b + 4) 1 THAW a1 {W@REE 1 79eafag P(-1, 1) &, di b

T B
() 1 b) -1 © 2 @ 0 1
e HEAT 11 9 15 H for wHi 1 4fd it :

11. (a,-b) @1 (a, b) hA=HI gl 2 u 1

12. k1 a8 9 fomes fag wefietor fem « + 2y = 3 @41 5x + ky = 7 ST 1 &4 181 ©,

g 1
13. (cosZ 45° + cot? 45°) HTAM B 1 1
14. (tan 27° — cot 63°) HIUH B 1 1

15. afq § 99&T F[sii &l STd goisti § 2 : 3 o1 34 &, dl 3o THAT T STTATd

a_ 1
T3 T 16-20 H =1 331 & ST i
16. 'qrasecG:% %,?ﬁcotewnmma?ﬁm 1
AU
a5 tan 0 = 4.3, 91 (SR oo e 1
17. 14 &ft B ot 99 & U Bsa@s &1 uiwm 68 ot 2 | 39 Frsus &1 &i9wa 9
HIT | 1
A
Teh o b1 TRIY 39.6 TH1 2 | 38eh! &AHA T hila | 1
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10. If P(-1, 1) is the midpoint of the line segment joining A(-3, b) and
B(1,b +4), then b is equal to

() 1 ®) -1 © 2 @ 0 1

In Question numbers 11 to 15, fill in the blanks :

11. Distance between (a, —b) and (a, b) is . 1

12. The value of k for which system of equations x + 2y = 3 and 5x + ky = 7

has no solution is . 1
13. The value of (cos? 45° + cot? 45°) is ) 1
14. The value of (tan 27° — cot 63°) is ) 1

15. If ratio of the corresponding sides of two similar triangles is 2:3, then ratio

of their perimeters is ) 1

Answer the following questions, Question numbers 16 to 20.

16. IfsecO= % , then find the value of cot 0. 1
OR
in 0+
If 3 tan 0 = 4, then find the value of (3 51'11 O + 2 cos 9) 1
3sinO—2cos 6
17. The perimeter of a sector of a circle of radius 14 em is 68 ecm. Find the
area of the sector. 1
OR
The circumference of a circle is 39.6 em. Find its area. 1
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18. TS 9T =1 Ueh & ATG=5dl AT 7T | Sraehal A shifag, foh A1 T2 &, Th
T & | 1

19. bl 1 H, Tk s ABC =1 911311 AB ae1 AC T shael: foig D @1 E 38 YR f&ud
2% DE ||BC 2 | afg AD = 3.6 &fi, AB = 10 &fi @41 AE = 4.5 31 &, 91 EC @
AC FTd HIT | 1

AT 1
20. AE3y— 1, 3y + 5 A5y + 1 T GHIAR 5 F Hiteh U¢ 7, a1 y 1 HH F1d I | 1

wWE-d

T3 HEAT1 21 H 26 T Ui Y & I HT1 3 |

21. Th I ° 5 A, 8 The qUT 7 Hichl e & | O U F U e ArgesAn fwbred T8 |
iRt FTd shifere foh fepTeli TS Tie

() A ATHBE TTHIB |
(i) HHEAGTE 2 | 2

22. UM Th HY IV MU | ST I1E1 R 137 — =1 Teamd 311 61 qiferenan 3d shifeie | 2
O

< U™ Th 91 STl T | a1 9™l T 3 i T@A137 bl 0 9 F Afaeh gH i
TTRIehaTl ST Shifwg | 2
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probability that chosen letter is a consonant. 1

18. A letter of English alphabet is chosen at random. Determine the

19. In Fig. 1, D and E are points on sides AB and AC respectively of a AABC
such that DE || BC.

If AD =36 em, AB=10 ecm and AE =4.5 em, find EC and AC. 1
A
D E
B > C
Fig. 1

20. If 3y — 1, 3y + 5 and by + 1 are three consecutive terms of an A.P., then
find the value of y. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. A bag contains 5 red, 8 white and 7 black balls. A ball is drawn at random
from the bag. Find the probability that the drawn ball is

(1) red or white
(1) not a white ball 2

22. Two dice are thrown at the same time. Find the probability of getting

different numbers on the two dice. 2
OR

Two dice are thrown at the same time. Find the probability that the sum

of the two numbers appearing on the top of the dice is more than 9. 2

430/3/1.| 9 P.T.O.
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23. 3TRHId 2 T Teh g Toh (S ABC o 3T=wid a1 731 @ S 9ati BC, CA @97 AB I
Sl Togali P, Q @1 R W e shtal @ | Il AB = 10 @i, AQ = 7 ¥l a1 CQ =5

Tt 8 | 91 BC ! €S 1d hifig | 2
A
R Q
B P C
TR 2
24. f%!a?ﬁ%rq : ‘\]secz(:) + cosec?0 = tan 0 + cot O 2
e
in
%W:ﬁ=(aosecﬁ+mt 0) 2

25. A =1, T Tedeh o1 3AGH 216 59 Tt 8, o Tl Hheleh] o1 [HATeR Teh B9 ST

SITAT 2 | S5 T 1 9EgU1 IR &R F1d HIT | 2
26. poh o AM A HIT e fere fgama THiepor «2 — 2px + 1 = 0 % I3 araideh gd
e 9
g -1

99 HEAT 27 9 34 deh Tcdeh Yk 3 37 & |

27. Afg 1 AT -2, 9gUE (x° — 4% — T + 10) % I &, A1 ST AT9 I Fa hifre | 3

28. 3 Tl T o1 U o WifaT | e o shg | 7 1 oh1 g o Terd e Toig | g Wal e
T@13Ti bl AT I | 3

KOG
8 T TS 1 Ueh TETIUE Wi a1 3H 3 : 4 % 319ra H fawiiora Hifvre | 3
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23. In Fig. 2, a circle 1s inscribed in a AABC, touching BC, CA and AB at P, Q
and R respectively. If AB =10 em, AQ =7 em and CQ =5 em then find the

length of BC. 2
A
R Q
B m C
Fig. 2

24. Prove that : \/se029 + cosec?d = tan 0 + cot 0 2

OR

sin 0

Prove that : = (cosec 0 + cot 0) 2

1—cosO

25. Three cubes each of volume 216 cm?® are joined end to end to form a
cuboid. Find the total surface area of resulting cuboid. 2

26. Find the values of p for which the quadratic equation x? — 2px + 1 = 0 has
no real roots. 2

Section - C

Question numbers 27 to 34 carry 3 marks each.

27. If 1 and —2 are the zeroes of the polynomial (x® — 4x2 — 7x + 10), find its
third zero. 3

28. Draw a circle of radius 3 em. From a point 7 em away from its centre,

construct a pair of tangents to the circle. 3
OR
Draw a line segment of 8 em and divide it in the ratio 3 : 4. 3

430/3/1.| 11 P.T.O.
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29. Uk N I W& Teh GHSTE RIS o &9 d wrer w1 3\ 1214[3 = St o Sk
TS BIA1 2 | Al 3 TR 1 Ueh < o &9 § HIST AT &1, dl 3l <hl BIsA1 R 811 7 3

cos 0 sin 0 _ .

30. ﬁl@sﬁﬁl’q:(1_tan9)+(1_cot9)—(cosﬁ+sm9) 3
YAl

Tag $ifST : (sin 6 + cosec H)2 + (cos O + sec )2 = 7 + tan20 + cot20. 3

31. Afefemafr~2 wh smfom gen g, aifagfifvefs (7 - 2/2) wh amfomgend | 3

Jeran
VTS TUEved faf & 44, 96 T 404 HTH.E. (HCF) 710 T | 37a: 391 .9
(LCM) 37 shifSe | 3
32. Tog Hifo fon forelt 3 o TfeTd TR I g4 9H=gys e 2 | 3

33. (a3 H fondlt Hafl § W &1 (desks) T AT < TE 2 | Sfdmmn, Wit qe
FT shA: fagati A, B @en C W el 8 | Tyl & T i :
(i) 3T shifere fop o T eieferai T S @ H 931 3 |
(i) F¢ A B CH@ g @ 91 HifSe fop fog B, Wrave AC 1 69 U@ §

fasmfsa s | 3
10
9
8 |- —
Z , S
£ -
3 &
SRR EE |
1234567 8 9 10
WY
-3
34. I 3Tehi i Ueh TEAT o 3iehi I ATTHA 10 3 | e =T H U 18 Hel fean u a7 31l &
T IeT 1T 8 | 981 71 hifeu | 3

.430/3/1. 12
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A wire when bent in the form of an equilateral triangle encloses an area of
12143 em? If the same wire is bent into the form of a circle, what will be the

radius of the circle ? 3
cos 0 sin 0 )
Prove that (1 — tan 0) + 1 —cot ) - (cos O + sin 0) 3
OR
Prove that (sin 8 + cosec 0)2 + (cos 6 + sec 0)2 =7 + tan?0 + cot2. 3

If421is given as an irrational number, then prove that (7 — 2\/5) is an

irrational number. 3
OR

Find HCF of 44, 96 and 404 by prime factorization method. Hence find

their LCM. 3

Prove that the parallelogram circumscribing a circle is a rthombus. 3

In Fig. 3, arrangement of desks in a classroom is shown. Ashima, Bharti
and Asha are seated at A, B and C respectively. Answer the following :

(1) Find whether the girls are sitting in a line.
(1)) If A, B and C are collinear, find the ratio in which point B divides the

line segment joining A and C. 3

10

9

8

7 ==

o 6 crAL

4

: )

1 A 1~

B I ) |

1 23 4 5 6 7 8 9 10

Columns
Fig.-3

34. A number consists of two digits whose sum is 10. If 18 is subtracted from

the number, its digit are reversed. Find the number. 3

.430/3/1. 13 P.T.O.
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wWE -9
U9 ST 35 U 40 dh T I 4 376 & |

35. %® Tomnferi 3 fuepfeh T M 1 AHT 5918 | @H &1 $ed s T 2,000 T@T 1T 94
5 Toranfefart o =1 31 v wfa foreneff @™ W@ 2 20 5 73 | fohan fearemeff fussfe wTe

T T faeneff 3 @ o fag feradt ufir € 2 4
36. T AU AE! o YW 6 T&I 1 AN 42 & | 38 109 9 a7 30 & U¢ H 377914 1 : 3 Wl
2 | 39 99T 91 T TUH IS 9UT 13971 US T4 shifaT | 4
O
100 3R 300 o s 1 g+t forem Heaiati &1 FrTwel F1d ST | 4
37. 7 ™. I 9o & PN ¥ Ueh shaol 2ral o TIREE 1 I~1F4 IV 60° & 3T $Hb T1E 1
ST I 45° B | ST b1 FATE A HIT | e 2 RE 3 =1.732 ®) 4
38. fagHifSu for us aushior g o ol 61 ol 319 Q1 SISTI o T I WL BT | 4
O
g I Top Tereht aTe Toig o o o W= 773 9] [l ol Aasal Sk ardi & | 4

39. UH TR The! o ocTeh forgeh! Yol 21 H.HY. B, % Teh Heleh bl G hi TR H HIEhL
Teh Y TARRR TG 30 Yo ST 1T & Toh 378 TTTeT o1 o™ B o foheii & SaR 2 |
Y s BIE 1 JTIAA 1 ShifaTg | 4

FUA

12 9.9, =@ ag1 15 9.1, Sa13 9Tl Teh 91g h 31F oot i (Teelehl Th HAGTTeT T
FRT I B3 o 9 S8 12 FaeiH1 4 ST 73 | T4 hi s e R i

el TS FA hINTT STateh fea & o 91 ohl =TS s9eh! B shl T 1 2 | 4
40. T Flemel o1 A1e 14 HifU -

= 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

ARARAT 5 10 18 30 20 12 5 4
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Section - D

Question Nos. 35 to 40 carry 4 marks each.

35. Some students planned a picnic. The total budget for food was T 2,000 but 5
students failed to attend the pienic and thus the cost for food for each member
increased by ¥ 20. How many students attended the picnic and how much did
each student pay for the food ? 4

36. The sum of first 6 terms of an A.P. is 42. The ratio of its 10t term to 30tk

term is 1:3. Find the first and the 13t term of the A.P. 4
OR
Find the sum of all odd numbers between 100 and 300. 4

37. From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60°, and the angle of depression of its foot is 45°. Find the

height of the tower. Given that ‘\E =1.732. 4

38. In aright triangle, prove that the square of the hypotenuse is equal to sum

of squares of the other two sides. 4
OR

Prove that the tangents drawn from an external point to a circle are equal

in length. 4

39. A hemispherical depression is cut out from one face of a cubical wooden
block of edge 21 em, such that the diameter of the hemisphere is equal to
edge of the cube. Determine the volume of the remaining block. 4

OR
A solid metallic cylinder of diameter 12 em and height 15 em is melted and
recast into 12 toys in the shape of a right circular cone mounted on a

hemisphere of same radius. Find the radius of the hemisphere and total
height of the toy, if the height of the cone is 3 times the radius. 4

40. Find the mean of the following data :

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency | 5 10 18 30 20 12 5 4

430/3/1.| 15
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